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OCR AS/A2 Critical Thinking

4 Evaluating arguments
a
(Though) some argue that Britain is not as prone to earthquakes as Japan. (3 marks for exact words. Fewer marks for a paraphrase.)

b
We should prioritise safety over materialism. (3 marks for exact words. Fewer marks for a paraphrase.)
c
Intermediate conclusion. It is supported by the reasons in the paragraph above and supports the main conclusion, the final sentence of the argument. (3 marks.)
d
Each flaw or strength identified carries 3 marks, if supported by explanation and a direct reference to the text. Reward 3 such points but deduct 1 mark if a convincing conclusion is omitted. 

In brief, flaws are as follows: 

· The first sentence is a sweeping generalisation and a sentimental appeal to tradition. 

· The first paragraph ends with an example of false cause; there is insufficient evidence to attribute rising divorce to electricity use, especially as, in the example given, the parents are watching television together — the fragmentation described is between the generations, not the sexes.

· The analogy between earthquakes in Japan and Britain is unconvincing. The British one quoted was clearly not strong enough to damage a carefully engineered power station. 

· The account of a British earthquake leading to a massive death toll is a slippery slope.

· The single incident of 2008 is insufficient evidence to support the reason that earthquakes ‘are still a frequent occurrence’.

· The principle ‘we should prioritise safety over materialism’ is poorly worded as it is not clear from the passage that our use of electricity is materialistic as opposed to convenient. The wording is rather biased and emotive.

· The most striking flaw is the false dichotomy in the final sentence. There are other sources of power we could make greater use of if we decide that nuclear energy is too risky. 

Strengths of the reasoning are fewer. Possibilities include: 

· The evidence from Japan of the risks to nuclear power stations in earthquakes is convincing.

· The argument has some detailed evidence about the British earthquake.

· The British earthquake was quite strong if its effects were so widely felt and, if the epicentre had been closer to a nuclear plant, it might have been dangerous.

· There is nothing to say that a worse UK earthquake might not occur in the future; perhaps we should err on the side of caution. 

Conclusion: 

The argument has significant weaknesses and few strengths. The false dichotomy is a major weakness, as it is quite misleading to conclude that we need to abandon all methods of generating electricity because of earthquakes. 
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